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Each koala , in a group

Solve this problem:

of 4 koalas, eats 3
Math worksheet on ‘Multiplication Word Problems apples. Each apple @ 0 b 2
(Small Integers) (Level 2)'. Part of a broader unit on weighs 7 grams. How
, Y . N many grams of apples
Multiplication - 2 Digit does each koala eat? Cc 28 d 12
Learn online: app.mobius.academy/math/units/multiplication 2 digit/ e f
21 24
2 3
Solve this problem: Solve this problem:
Each koala eats 6 Each koala , in a group
apples. There are 3 of 8 koalas, eats 8
koalas. Each apple a 19 b 18 apples. Each apple a 64 b 34
weighs 4 grams. How weighs 5 grams. How
many apples are eaten many grams of apples
in total? C 17 d 12 does each koala eat? C 13 d 40
e 45 b e 4 F 400
4 5
Solve this problem: Solve this problem:
A group of 9 kidg gach A group of 7 koalas
haye a bag containing 5 b each eat 6 apples that b
pieces of candy. Each 8 55 41 each weigh 8 grams. 42 50
candy weighs j1 grams. How many apples are
How m(;any plecleos of c d eaten in total? c d
candy in total? 43 45 ’ 34 0
€ 9 o5 € 45 LI
6 7
Solve this problem: Solve this problem:
A group of 7 kids each HOV\ll many gramsbof
have a bag containing 9 appies are e_aten y
: b each koala if each a b
pieces of candy. Each a 62 63 koala, in a group of 7 14 9
candy welghs.9 grams. koalas, eats 2 apples
How many plece?s of d and each apple is 7 d
candy in total? C 630 59 grams? C 16 49
€ 81 LI e 12 f a0
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